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Cost Accounting / (ara d@i®)

Bachelor of Commerce (B.Com.-10/16/17)
Second Year, Examination - 2019

Time: 3 Hours Max. Marks: 80

Note:- This paper is of eighty (80) marks divided
into three sections-A, B, and C. Learners are required
to attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A (EUVS—®)
(Long Answer Type Question) / @rdl IR aret 9 )

Note:- Section ‘A’ contains four (04) long-answer-type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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1. “Costs are classified according to the nature of
the operations.” Set out the classification with
a brief description of the operations covered by

each heading.
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2. What is a Cost Sheet and why is it prepared.?

Prepare a cost sheet with imaginary figures.
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3. Following particulars relate to a contract:

Materials

Indirect Expenses
Work Certified
Material at the end
of the year

Cash received from

the contractee

40,000
15,000
1,20,000
11,000

1,00,000

Wages

Plant

Work Uncertified
Plant at the end
Material returned

to stores

50,000
50,000
60,000
43,000

2,000

Prepare contract

account

and works-in-

progress account assuming that the contract
price was Rs. 3,50,000/-
o= faaRer v S & IR B
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40,000 | ITRSIH®
15,000 | TATOC
1,20,000 | STHIOIT BT
11,000 | 9 31T H
1,00,000 | AT TSR

CaRGIEES]

50,000
50,000
60,000
43,000

2,000
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4, What do you mean by break even analysis?

Describe its importance and application.
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Section-B (TUs—&)
(Short Answer Type Question) / (cT€] IR aTal 9g)

Note:- Section ‘B’ contains eight (08) short answer
type questions of Eight (08) marks each.
Learners are required to answer four (04)
questions only. (4x8=32)
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1. Distinguish between Cost Accounting and

Financial Accounting.
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2. Define the term Cost Centre and explain it

with example.

AT g BT IRATRT HITT o 30 SRl
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3. Write a short note on Perpetual Inventory

System.
R Ty gullell X U dferag fewmof

forfay |

4, What is idle time and how should it be treated

in Cost Accounts?
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5. What do you understand by Machine Hour

Rate? How is it calculated?
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6. The costing department of GSR Ltd absorbs
factory overhead @60% of Labour and Office
overheads @20% of factory cost. The total
expenditure fort the factory is as under:

Rs.
Materials 4,00,000
Labour 3,00,000
Factory Overheads 1,96,000
Office Overheads 1,70,000

10% of output is in stock. Sales amounted to
Rs. 10,20,000. Stock has been valued at total
cost in both the accounts. Prepare a
reconciliation statement.

SUAIR. ftfice &1 danTdie f[39RT SR
IuR&T &I %M & 60 UfIed 3R BRI
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%o
AR 4,00,000
ST 3,00,000
PRET TR 1,96,000
BT SURY 1,70,000
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7. A cost sheet for a sewing machine is as under:-

Rs.
Machine 80
Labour 40
Variable Exp. 20
Fixed Expenses 40

Total Cost 180
Profit 20

Selling Price 200

No. of machines produced and sold was 30,000.
Capacity is 40,000 machines. Should the
company accept an export order for 5,000

machines at Rs. 160 per machine?
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S| 40
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ReR & 40
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<l 20

[EERE ! 200
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8. Describe the scope of standard cost if.

U T oiRdih & &5 T g PIfoTT |

Section-C (Evs—)
(Objective Type Questions) / (ERT:[,ﬁFEE 93)
Note:- Section ‘C’ contains ten (10) objective type

questions of One (01) marks each. All the
questions of this section are compulsory.
(10x1=10)
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Write True/False against the following :
f=faRad & are b /T forfRaw

1.

Joint Product and Bye Product are the same.
HYaT IATE AT U Ud B BN B |

In taylor’s Differential Piece Rate Plan, more
wages rates are given to persons who perform
with standard level or above.

TR @ faveTHd B &R ATl § 99 Afddl
Bl AGGY] Hdl &R ¥ YSH Bl Sl & Sl AMD
TR AT A6 R UgeH IR 2 |

The part of the value of certified work retained
by the contractee is known as Retention
Money.

I BRI HI AR BN S 9RT SHIEAT §RT
R forar ST 8 99 ufoeRer ¥ dEd © |

Factory Cost includes Administrative Cost.

PRI IRTd | Jemaf~e g aftaferd sl
=

In ABC system of material control, store
material is classified in A, B and C groups

according to their preciousness.
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Choose the correct alternative :

|l fdeeu gy :
6. The head office of The Institute of Cost

Accountants of India is situated in ............

(a) Mumbai (b) New Delhi

(c) Kolkata (d) Chennai

IRAY AN ol WM &1 9 Bl

(@) g @ = faeeh
(@)  Drefrd (@ o
7. If profit is 20% of sales, then it will be

............ % of cost.

(a) 25 (b) 20

(c) 80 (d) None of the above
A fIed IR o™ 20 UfRd & 1 I8 dRTd &l
............ yfcrerd g1 |

@) 25 @) 20

E) 80 (@) SWRIad § F P Tal

S-307/BCM-203/BC-08 10 P.T.O.



8. Under which of the following business,
Operating Costing System is adopted?
(a) Manufacturing of furniture
(b) Transportation business
(c) Construction on contract

(d) All of the above

e ¥ 9 o9 R 9 gR<ara= aFTd goTel
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9. If the total operating cost of a vehicle is Rs.

3,000 and per kilometer cost is Rs. 0.025, then
distance covered by the vehicle will be ....... km.

(a) 75
(b) 12,000
(c) 1,20,000

(d) None of these
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10. Which of the following is included in cost
accounts and not in financial accounts?
(a) Rent on owners building
(b) Bad Debts
(c) Interest on Capital
(d) Interest on bank deposits
frifra ® 9 {5 aRTa oral | |fafera faan
ST 2 foeg Feder e ¥ A
@) I D 9T BT M
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